Easter Coordinates

I can read, write and translate coordinates in all four quadrants.

Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
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Easter Coordinates Answers

I can read, write and translate coordinates in all four quadrants.

Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
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Easter Coordinates

I can read, write and translate coordinates in all four quadrants.
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Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
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translated eggs may move to the starting position of other original eggs.
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Easter Coordinates Answers

I can read, write and translate coordinates in all four quadrants.
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Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
Some of the translated eggs may move to the starting position of other original eggs.
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Easter Coordinates

I can read, write and translate coordinates in all four quadrants.
Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
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Easter Coordinates Answers

I can read, write and translate coordinates in all four quadrants.
Write the coordinates of the Easter eggs. Then translate them and write the new coordinate.
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